IMPORTANT QUESTIONS (CHAPTER 1 – 5)

(LEVEL 1)

1. State Euclid division lemma.

2. State Fundamental Theorem of Arithmetic.

3. Find the HCF of 105 and 245 by Euclid division algorithm.

4. Express 296 as a product of its primes

5. Find the HCF and LCM of 75 and 160 by Fundamental theorem of Arithmetic and verify LCM x HCF = product of two numbers

6. If HCF of 30 and 45 is 15. Find the LCM.

7. Prove 5 + 2√3 is irrational

8. Check whether 17/210 is terminating or non-terminating.
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9. Find the zeros and verify the relation between zeros and 


coefficients of (i) x2 + 11x + 30 (ii) x2 - 9

10. Find the number of zeros of  in fig (i)






fig (i) 

11. Find a quadratic polynomial whose sum and product of zeros are 1/3 and -1/3

12. Divide 3x2 – x3 – 3x + 5 by x – 1 – x2 and verify the division algorithm

13. On dividing 2x3 + 4x2 + 5x + 7 by g(x) the quotient and remainder are 2x and 7 – 5x respectively. Find g(x)

14. State the condition so that the pair of linear equations a1x + b1y + c1 = 0 and a2x + b2y + c2 = 0 have no solution, unique solution or infinite solution.

15. For what value of k the eq. kx + 3y – (k – 3) = 0 and 12x + ky – k have infinite many solution

16. Check whether 7x + 3y = 27 and 2x + 5y = 16 have unique solution, no solution or infinite many solution.

17. Check whether 2x + 3y = 7 and 4x + 6y = 16 are consistent or inconsistent.

18. Find k if kx + 3y + 1 = and 2x + y + 3 =0 has unique solution.

19. Check whether 5x – 3y = 11 and -10x + 6y = -22 represent an intersecting lines, parallel lines or coincident lines.

20. Solve:  2/x + 2/3y = 1/6 and 3/x + 2/y = 0

21. Solve graphically x – y + 1 =0 and 3x + 2y – 12 = 0

22. Solve 6x + 3y = 6xy and 2x + 4y = 5xy

23. Check whether x = -1 is a solution of equation 4x2 – 3x – 1 = 0

24. Find k if one root of equation x2 + kx – 4 = 0

25. Solve by factorization: 9x2 – 3x – 20 = 0

26. Solve by completing square method: 6x2 – 13x – 5 = 0

27. Find the nature of roots of equation 9x2 + 12x + 4 = 0

28. Find k if 2kx2 + 6x + 5 = 0 has equal roots.

29. Solve x – 1/x = 3

30. Find the 20th term of the AP 7, 3, -1, -5 ……

31. Write the AP whose 3rd term is 5 and 7th term is 9.

32. Determine 15th term from the end of the AP 8, 13, 18, …….. 153

33. nth term of an AP is given by 5n – 3. Find the AP

34. Find the sum of 20 terms of the AP 5, 8, 11, 14

35. Which term of the AP 3, 8, 13, …… is 78.

36. Check whether 301 is a term of A.P. 5, 11, 17, 23

IMPORTANT QUESTIONS (CHAPTER 6 – 10)

(LEVEL 1)

37. If a line is drawn parallel to one side of a triangle, to intersect the other two sides, the other two sides are divided in the same ratio. Using above theorem solve the following:

a. In (ABC, D and E are the points on AB and AC such that DE||BC AD = 2cm, AB = 6cm, AC = 9cm find AE

b. In (ABC, D and E are the points on AB and AC such that DE||BC AD = x, DB = x - 2, AE = x + 2 EC = x - 1find x

38. Prove that ratio of areas of two similar triangles is equal to the ratio of square of corresponding sides Using above theorem solve the following:

a. If ( ABC ~ (DEF, BC = 3cm, EF = 4cm and (ABC = 54cm2, find the area of (DEF

b. If ( ABC ~ (DEF, AB = 1.2cm, DE = 1.4cm, find the ratio of areas of (ABC and (DEF

39. Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the square of the other two sides. Using above theorem solve the following:

a. A ladder 24cm long reaches a window of a house 12 m above the ground. If the distance of the foot of the ladder from the house.

b. A man goes 15m due west and then 20m due north. Find the distance from the starting point. 

40. In a triangle, if the square of one side is equal to the sum of the squares of the other two sides, then prove that the angle opposite to the first side is a right angle. Using above theorem solve the following:

In (ABC, AB = 7cm, BC = 24, and CA = 25cm. Determine whether it is a right triangle

41. Show that (-2, 1), (2, -2) and (5, 2) are the vertices of a right triangle.

42. Show that (-3, 2), (1, -2) and (9, -10) are collinear.

43. Find a point on y axis which is equidistant from the points (3, 4) and (6, 7).

44. Find the ratio in which the point (-2, 3) divides the line segment joining the points (-3,5) and (4, -9)

45. Find the ratio in which y axis divides the line segment joining the points (-4,5) and (3, -7)

46. Find the area of triangle formed by the points (4, 3), (5, 4) and (11, 2).

47. Find k so that A(-2,3), B(3, -1) and C(5, k) are collinear.

48. If tan A = ½, then prove that ½ sin A cos A = 1/5
49. If sin(A + B) = √3/2 and cos(A – B) = 1. find A and B

50. Evaluate: tan260( + 4 cos245( + 3 sec230( + 5 cos290(
           Cosec 30( + sec60( – cot230(
51. If A+B = 90( and sec A = 4/3 find cosec B

52. Evaluate: (i) sin239( + sin2 51( + sec227( – cot263( +tan5( tan25( tan45( tan65( tan85(


53. Find A if sin(A + 36() = cos A

54. A, B and C are the angles of a triangle. Prove that sec  B + C   =  cosec A
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55. What are the angles of depression from the observing 


     30(

point O of the objects at A and B.




     
   A

56. From a point on the ground, 15m away from the root of a tree, the 

angle of elevation of the top of the tree is 30(. Find the height of the tree.      B

57.
Prove that lengths of tangents drawn from an external point to a circle are equal.

58
Find the length of tangent drawn to a circle of radius 5cm, from a point at a distance of 15cm from the center. 

59
PA and PB are the tangents to a circle with center O. If (AOB = 110(. Find (APB and (APO

60
The length of tangent drawn to a circle from a point at a distance of 5cm from the center is 4cm. Find the radius of the circle. 

IMPORTANT QUESTIONS (CHAPTER 11 – 15)

(LEVEL 1)

61. Draw a line segment AB = 7cm and divide it internally in the ratio 3:2.

62. Draw (ABC with BC =6cm, AB = 4.5cm and (ABC = 30(. Then construct a triangle whose sides are 1½ times the corresponding sides of (ABC.

63. Draw (ABC with BC =8cm, (ABC = 45( and (BAC = 105(. Then construct a triangle whose sides are 2/3 times the corresponding sides of (ABC.

64. Construct a circle of radius 3.5cm, from a point on the concentric circle of radius 6.5cm draw a tangent to the first circle and measure the length of the tangent drawn. Also find the length of the tangent by actual calculation.

65. Draw a circle of radius 4cm and construct a pair of tangents to the circle which are inclined to each other at 30(.

66. The radii of two circles are 13cm and 6cm respectively. Find the radius of the circle which has circumference equal to the sum of the circumferences of the two circles.

67. The chord of a circle of radius 7cm subtends an angle of 60( at the center. Find (i) length of arc (ii) Area of sector (iii) area of minor segment.




        B

68. Find the area of shaded region if OA =2.1cm, OB = 4.2cm & ( O = 45(
       A

69. A toy is in the form of a cone mounted on a hemisphere of common base 7cm. 

The total height of the toy is 31cm. Find the total surface area and volume

of the toy.








  O
     C
    D

70. A solid metallic sphere of diameter 21cm is melted and recasted into a number of smaller cones, each of diameter 7cm and height 3cm. Find the number of cones so formed.

71.  A hemispherical bowl of internal radius 9cm is full of water. The water is to be filled into cylindrical shaped bottles each of diameter 3cm and height 4cm. How many bottles are needed to empty the bowl.

72. The radii of circular ends of a solid frustum of a cone are 33cm and 27cm and its slant height is 10cm. Find the total surface area.

73. Find the mean of the following data: 

Class interval
0 – 20
20 – 40  40 – 60  60 – 80  80 – 100

Frequency
  5            10           20         12           3

74. Find the mode of the following data:

Class interval
20 – 40  40 – 60  60 – 80  80 – 100  100 – 120

Frequency
   5            10           20           12               3

75. Find the median of the following data:

Class interval
20 – 40  40 – 60  60 – 80  80 – 100  100 – 120

Frequency
   5            10           20           12               3

76. Find the probability of getting 53 Mondays in a (i) leap year (ii) non leap year

77. Three coins are tossed simultaneously. Find the probability of getting (i) two heads (ii) at least two heads (iii) at most two heads (iv) no head

78. One card is drawn from a pack of 52 cards. Find the probability of getting (i) a black card. (ii) a face card (iii) black or queen (iv) either red or queen (v) neither a red card nor a king.(vi) jack and red card

79. A bag contains 5 black, 7 red and 3 white balls. One ball is drawn at random, find the probability of getting (i) black or white (ii) not black (iii) green

80. Out of 400 bulbs in a box, 15 bulbs are defective. One bulb is taken out at random. Find the probability the bulb is non defective.

81. In a lottery there are 10 prizes and 25 blanks. Find the probability of getting a prize.

82. The probability that it will rain tomorrow is 0.85. What is the probability that it will not rain tomorrow.
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